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Find the pH of the following acidic solutions:

1) A 0.001 M solution of HC! (hydrochloric acid).

2)  A0.09 M solution of HBr (hydrobromic acid).

3)  A1.34x10™ M solution of hydrochloric acid.

4) A 2.234 x 10 M solution of HI (hydroiodic acid).

5) A 7.98 x 10 M solution of HNO3 (nitric acid).

6) A solution with a volume of 12 L containing 1 mole of hydrochloric acid.
7 735 L of solution containing 0.34 moles of nitric acid.

8) 1098 L of a solution containing 8.543 moles of hydrobromic acid.

9) 660 L of a solution containing .0074 moles of hydrochloric acid.

10) 120 mL of a solution containing 0.005 grams of hydrochloric acid.
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1.2 L of a solution containing 5.0 x 10* grams of hydrobromic acid.

2.3 L of a solution containing 4.5 grams of nitric acid.

792 mL of a solution containing 0.344 grams of hydrochloric acid..

100 mL of a solution containing 1.00 grams of nitric acid.

8.7 L of a solution containing 1.1 grams of nitric acid.

1.5 L of a solution containing 5.6 grams of hydroiodic.

10.7 L of a solution containing 0.01 grams of hydrochloric acid.

8,000 mL of a solution containing 6.7 grams of nitric acid and 4.5 grams of
hydrochloric acid.

150,000 L of a solution containing 45 grams of nitric acid and 998 grams
of hydrobromic acid.

50 L of a solution containing 0.09 grams of HCI, 0.9 grams of HBr, 9.0
grams of Hl, and 90.0 grams of HNOs.
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1. Given the following [H30%] concentrations,

2

Z

24,

determine the pH of each solution:

a. 1l X 1077 c. 1 X 10-12
b.1 X 10-3 d.1 X 105

Z. Determine the pH of each of the following
solutions:
a. 0.01 MHCI ¢. 0.000 01 MHI

b. 0.001 s HNO, d. 0.0001 A HBr

3. Given the following [OH7) concentrations,
determine the pH of each solution:
a.1 X 10°¢ c.l1 X102
b.1 X 10—° d.1X 10-7
Determine the pH of each solution:
a. 0.01 MNaOH b. 0.001 MKOH

c. 0.0001 MLiOH

Z 57, Determine the pH of each solution when

26.
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given the following [H;0%):

a. 2.0 X 1675

b. 4.7 X 10-7

c. 3.8 X 103

Given the following pH values, determine the
[H30%] for each solution:

a. 3 e 11

b. 7 d. 5

. Given the following pH values, determine the
[OHT] for each solution:
a; 7 . c 4

b. 11 d. 6

Determine [H,0*] for each of the solutions
with the following pH values:
a.4.23 b.7.65 c.9.48

A nitric acid solution is found to have a pH
of 2.70. Determine each of the following:
a. the [H;0%)

b. the [OH7]

c. the mass of anhydrous HNO, required to
prepare 5.50 L of this solution

d. the milliliters of concentrated acid needed
to prepare the solution in c. (Concentrated

nitric acid is 69.5% HNO; by mass and hasa - - 7

density of 1.42 g /mL.)





